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Q1. Consider the following statements about the extent of India. How many of the following statements are
correct?

1. The latitudinal and longitudinal extent of India is roughly 30 degrees each.
2. The distance between the northernmost and southern most point of mainland India is shorter than
the distance between the eastern most and western most point of mainland India.
3. The distance between two latitudes increases from North Pole towards the Equator and decreases
from Equator towards North Pole.
4. Distance between two longitudes decreases towards the poles.
Select the appropriate answer from the option given below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements

Q2. Consider the following pairs of Channels and Locations. How many of the following pair(s) is/are
correctly matched.

Channel Location
1) 8 Degree Separates Minicoy from Maldives
2) 9 Degree Separates Minicoy from main Lakshadweep
3) 10 Degree Separates Andaman from Nicobar
4) Duncan Passage | Separates Little Andaman from Greater Andaman

Select the appropriate answer from the option given below.
a) Only one pair
b) Only two pairs
c) Only three pairs
d) All four pairs

Q3. Consider the following statements. How many of the statement(s) given below is/are correct?

1. The amount of annual rainfall in the Northern plains decreases from East to West.

2. The temporal extent of the monsoon in India decreases from South to North.

3. The retreating monsoon is associated with rain in the state of Tamil Nadu.

4. Most of the rainfall of Indian monsoon is associated with North-East monsoon.
Select the appropriate answer from the option given below.

a) Only one statement
b) Only two statements
¢) Only three statements
d) All four statement

Q4. Consider the following statements about the Indian Forest Report 2021.

1. It is published by the Forest Survey of India which comes under the MoEFCC.
2. The highest forest coverage increase was recorded in the state of Andhra Pradesh.
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3. The highest mangrove coverage increase was recorded in the state of Odisha.
4. Only three states have forest cover more the 75% of their geographical areas.

How many of the statement(s) given above is/are correct? Select the appropriate answer from the option
given below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements

Q5. Consider the following details “They are tropical Montane forests found in the valleys separated by
rolling grasslands and only in the higher elevations. They occur only in the valleys where there is the least
reach of the fog and mist. It is located near the Sigur Plateau.”.

The above detail best depicts about which one of the following?

a) Banni Grasslands
b) Terai Grasslands
c) Shola Grasslands
d) Bugyal Grasslands

Q6. The Indian monsoon is impacted by which of the following?

1. EI-Nino and La-Nina
2. The Tibetan Plateau
3. Mascarene High

4. Somali Jet Stream

Select the appropriate answer from the option given below.

a) Onlyone
b) Only two
c) Only three
d) All four

Q7. Arrange the following passes from North to South:

1. Baralacha La
2. Khardung La
3. Chang La

4. Rohtang La

Select the correct answer using the codes given below:

a) 1-3-2-4
b) 2-3-1-4
) 2-3-4-1
d) 3-2-1-4
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Q8. Consider the following statements. How many of the below statement(s) is/are correct?

1. The Earth's molten core can be passed through by Primary waves only.

2. In a seismograph, surface waves are recorded later than the P and S waves.

3. Love waves are transverse to the direction of propagation and causes the most damage to the
structures.

4. Rayleigh waves create an elliptical motion in the direction of propagation.

Select the appropriate answer from the option given below.
a) Only one
b) Only two
c) Only three
d) All four

Q9. Consider the following pairs of River and their originating point.

River Origin
1) Brahmaputra | Chemayungdung glacier, Tibet
2) Godavari Mahabaleshwar, Maharashtra
3) Kirishna Trimbakeshwar, Maharashtra
4) Kaveri Brahmagiri Hills, Karnataka

How many of the above pair is/are correct? Select the appropriate answer from the option given below.

a) Only one pair

b) Only two pairs
c) Only Three pairs
d) All four pairs

Q10. Consider the following pairs of Tribe and the region in which they are found.

Tribe Region
1) Birhor Jharkhand
2) Bhutia Sikkim
3) Toda Tamil Nadu
4) Jarwa Andaman & Nicobar

How many of the above pair(s) is/are correct? Select the correct answer from the option given below.

a) Only one pair
b) Only two pairs
¢) Only three pairs
d) All four pairs
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Q11. Consider the following pairs, how many of the following pair(s) is/are incorrect?

Mountain Type
1) Alps(Europe) Fault-Block Mountain
2) Vosges(France) Volcanic Mountains
3) Vindhya(India) Folded Mountain
4) Fujiyama(Japan) Relict Mountain

Select the appropriate answer from the option given below.

a) Only one pair

b) Only two pairs
c) Only three pairs
d) None of the pairs

Q12. Consider the following pairs of Tropical Cyclone and the region. How many of the following pair(s)
is/are correct?

Tropical Cyclone Region
1)  Willy-Willy U.S.A.
2) Hurricanes Australia
3) Typhoons Philippines
4) Baguio China

Select the appropriate answer from the option given below.

a) Only one pair
b) Only two pairs
c) Only three pairs
d) None of the pair

Q13. Consider the following statements.

1) Possession of Kirpan by Sikhs is part of Religious Freedom under Art 25

2) All minorities shall have the right to establish and administer educational institutions of their choice
under Art 30

3) Indian Constitution prohibits children to work in any factory under Art 24

4) No religious instruction shall be provided in any educational institution wholly maintained out of
State funds under Art 27

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements
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Q14. Consider the following pairs of Schedule and related provision in the Indian constitution.

1) Fourth Schedule—Allocation of seats in the Rajya Sabha

2) Tenth Schedule— Provisions relating to the Disqualification of members in legislative bodies.
3) Seventh Schedule-Division of powers between Centre and State.

4) Sixth Schedule—Provisions relating to the administration of Tribal areas in some states.

How many of the above pair(s) is are correct? Select the correct answer from the option given below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements

Q15. Consider the following statements about the condition When Lok Sabha is dissolved. How many of
the following statement(s) is/are correct?

1. A Bill pending in Rajya Sabha which has not been passed by the Lok Sabha lapses.

2. A Bill pending in Lok Sabha lapses.

3. A Bill passed by both houses but pending assent of the President of India does not lapse.
4. A Bill sent back by the President for the reconsideration, does not lapse.

Select the correct answer from the option given below.

a) Only One
b) Only two
c) Only three
d) All four

Q16. Consider the following pairs about the Question and the action which can be taken by the legislatures
in the house. How many of the following pair(s) is/are incorrect?

Type of Question Action associated with it
1) A starred Question When a member desires an Oral Answer
2) An Unstarred Question | Supplementary question can be asked subsequently
3) A short Notice question | Supplementary questions can be asked subsequently
4) A starred Question Only 50 questions can be listed for oral answer a day

Select the appropriate answer from the option given below.

a) Only one pair
b) Only two pairs
¢) Only three pairs
d) All four pairs

Q17. Consider the following statements. How many of the following statement(s) is/are not correct?

1) If a person is elected to both the House of Parliament, he must intimate within 10 days in which
House he desires to serve, otherwise both seats become vacant.
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2) If a person is elected to two seats in a House, he should exercise his option for one, otherwise both
seats become vacant.

3) If a sitting member of one House is also elected to the other House, his seat in the first House
becomes vacant.

Select the appropriate answer from the option given below.

a) Only one statement
b) Only two statements
c) All three statements
d) None

Q18. Consider the following statements.

1. In case of a conflict between the central law and the state law on a subject enumerated in the
Concurrent List, the Central law prevails over the State law.

2. The Parliament cannot make laws on any matter in the state list for implementing the international
treaties, agreements or conventions without consent of concerned state.

Which of the statements given above is/are correct?

a) lonly

b) 2only

c) Bothland2
d) Neither 1 nor 2

Q19. Consider the following statements. How many of the following statement(s) is/are correct?

1. A No-Confidence Motion should state the reasons for its adoption in the Lok Sabha.
2. If Censure motion is passed in the Lok Sabha, the council of ministers need not resign from the
office.

3. Adjournment Motion is introduced in the Parliament to draw the attention of the House to a definite
matter of urgent public importance and needs the support of 30 members to be admitted.

Select the appropriate answer from the option given below.

a) Only one statement
b) Only two statements
c) All three statements
d) None

Q20. Consider the following statements regarding Delimitation Commission.

1. It is appointed by the President of India after every census since Independence.

2. The Delimitation Commission in India is a high-power body whose orders have the force of law
and cannot be called in question before any court.

3. It aims to determine the number and boundaries of constituencies to make population of all
constituencies nearly equal.
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How many of the above statement(s) is/are incorrect? Select the appropriate answer from the option given
below.

a) Only one statement
b) Only two statements
c) All three statements
d) None

Q21. Consider the following statements about the Local Governments.

1) Lord Mayo’s resolution of 1870 gave the impetus to the development of local institutions in India.

2) Local government finds the mention in the original constitution under Article 40.

3) The Balwant Rai Mehta Committee recommended establishment of a two tier Panchayati Raj
system.

4) GVK Rao committee demanded the constitutional status to the Panchayat Raj system.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements

Q22. Which of the following is/are the exclusive powers of Rajya Sabha?

1. Creation of All India Services under Art 312.

2. Allowing the Parliament to make law on state list in national interest under Art 249.
3. Introduction of Constitution Amendment bill.

4. Resolution for removal of Vice President can be introduced only in Rajya Sabha.

Select the appropriate answer from the option given below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements

Q23. Consider the following statements about the World Environment Day.

1. World Environment Day is celebrated every year on 5™ June under the aegis of UNEP.
2. The focus of 2024 day is Land Restoration, Halting Desertification and Building drought resilience.

Which of the above statement(s) is/are correct? Select the appropriate answer from the option given below:

a) lonly
b) 2only
c) Both of the statements
d) None of the statements
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Q24. Consider the following statements. How many of the following statement(s) is/are correct?

1. The transitional zone between two distinct ecosystems is known as ecotone

2. A G Tensley defined the term Ecosystem, which means a community of organisms together with
the environment in which they live.

3. Ecology is the study of the relationship between living organisms and their physical environment

4. The ecosystems are only natural in origin.

Select the appropriate answer from the option given below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All four statements

Q25. How many of the following salts is/are injected into the clouds during the cloud seeding?

1. Silver lodide

2. Sodium chloride
3. Aluminium lodide
4. Potassium iodide

Select the correct answer using the codes given below:
(@) Only one

(b) Only two

(c) Only three

(d) All four

Q26. It is a traditional milk food product of Jammu and Kashmir. It is one of the favourite foods of Dogras,
nomadic Gujjar and Bakarwal tribes of Jammu and Kashmir. It is a ripened milk product which is very
dense and is usually sauted in its fat. Generally, it is made from buffalo’s or cow’s milk.

The above-mentioned lines refer to which Geographical Indication (Gl) tag product? Select the correct
answer from the option given below.

(a) Yak Churpi
(b) Khamti rice
(c) Kaladi

(d) Palkova

Q27. With reference to the Sangai deer, consider the following statements:

1. It is endemic to Manipur.
2. It is categorised as Vulnerable by the IUCN.

3. Namdapha National Park is the home to Sangai deer.
4. Itis listed in Schedule 11 of the Indian Wild Life (Protection) Act, 1972.
How many of the statement/s given above is/are correct?
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(@) Only one
(b) Only two
(c) Only three
(d) All four

Q28. Consider the following statements about the various types of Carbon.

1) Black Carbon is formed by the combustion of organic matter.

2) Brown Carbon is formed by the incomplete combustion of fossil fuels.
3) Blue Carbon is stored in coastal and marine ecosystems.

4) Green Carbon is captured into terrestrial plant biomass.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one statement
b) Only two statements
c) Only three statements
d) All statements

Q29. Consider the following statements about the First Movers Coalition.

1. Itis led by WEF and US Government.

2. India is not a member.

3. This initiative is to decarbonise sectors of Aluminium, Aviation, Shipping, Steel, Trucking, Cement
and Chemicals.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone
b) Only two
c) All three
d) None

Q30. Consider the following statements about Climate Change Performance Index (CCPI). How many of
the following statement(s) is/are correct?

1. India’s rank improved this year as compared to the previous year.
2. Among G20 countries, India is the best performing in this Index.
3. All the top 5 places are occupied by Scandinavian countries.

Select the appropriate answer from the option given below.

a) Only one statement

b) Only two statements
c) All three statements

d) None of the statements
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Q31. Consider the following statement about Torrefaction. Which of the following statement(s) is/are
correct?

1) Itis a thermal process which converts the stubble biomass into coal-like substance.
2) It involves the heating of biomass in the excess of oxygen.

Select the appropriate answer from the option given below.

a) Only1l

b) Only 2

c) Bothland2
d) None

Q32. Consider the following statements. Which of the following statement(s) is/are correct?

1) Biomagnification — increase in the concentration of a pollutant from the environment to the first
organism in a food chain
2) Bioaccumulation — increase in the concentration of a pollutant as it moves from one trophic level to
the next
Select the appropriate answer from the option given below.

a) Only1l

b) Only 2

c) Bothland2
d) None

Q33. With reference to the Square Kilometer Array (SKA) project, consider the following statements.

1. It is an international scientific collaboration working to build the world’s largest radio telescope.
2. India has not contributed to this project.
3. Itis a single large telescope operating from South Africa.

How many of the statement(s) given above is/are correct?

(@) Only one
(b) Only two
(c) All three
(d) None

Q34. The Nobel Prize in Chemistry for 2023 has been awarded to Moungi Bawendi, Louis Brus and Alexei
Ekimov for:

(@) the development of click chemistry and bioorthogonal chemistry
(b) the development of a method for genome editing

(c) the design and synthesis of molecular machines

(d) the discovery and synthesis of quantum dots
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Q35. The pink bollworm (Pectinophora gossypiella) is a monophagous pest that feeds mainly on which
crop? Select the appropriate answer from the option given below.

(@) Mustard
(b) Paddy
(c) Wheat
(d) Cotton

Q36. With reference to “mitochondrial diseases”, consider the following statements:

1. Mutations in mitochondrial DNA do not cause mitochondrial disorder.

2. These diseases are incurable and can be fatal within days if diagnosed in a newborn.

3. Mitochondrial diseases can affect almost any part of the body.

4. The three-person IVF procedure is known to help eliminate mitochondrial diseases that are passed
on from mother to child.

How many of the statements given above are correct?

(@) Only one
(b) Only two
(c) Only three
(d) All four

Q37. Consider the following statements. How many of the following statement(s) is/are correct?

1. The Chernobyl disaster is related to Nuclear accident

2. The Fukushima disaster is related to Nuclear accident

3. The Bhopal gas tragedy is related to Methyl Isocynate
Select the appropriate answer from the option given below.

a) Onlyone
b) Only two
c) All three
d) None

Q38. Consider the following statements about the element and associated disease

Element Disease
1) Cadmium Itai Itai
2) Nitrates Methemoglobinemia
3) Arsenic Black Foot
4) Mercury Minamata

How many of the above pair(s) is/are correctly matched? Select the appropriate answer from the option
given below.

a) Onlyone
b) Only two
c) Only three
d) All four
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Q39. Consider the following pairs of cell organelles and their functions. How many of the following pairs
are correct?

Cell Organelle Function

1) mitochondria | energy production (ATP)

2) ribosomes protein production

3) lysosomes protein destruction (suicide bags)
4) vacuole store water

Select the appropriate answer from the option given below.

a) only one pair
b) only two pairs
c) only three pairs
d) All four pairs

Q40. Bluebugging was in the news recently, it is related to?

a) creating carbon sink in Blue ocean

b) creating mechanism of Blue-sky to fight climate change/
¢) hacking a device via its Bluetooth connection.

d) repairing the smart device by using Blu-rays.

Q41. Which is the fastest Supercomputer in India? Select the appropriate answer from the option given
below.

a) Param Shivay
b) Mihir

c¢) Param Siddhi
d) Airawat

Q42. Cry2Ai was recently in the news. It is related to? Select the appropriate answer from the option given
below:

a) It’s a gene which makes the cotton resistant to pink ballworm

b) It is an Al based software which tracks the crying pattern of children’s.

c) It is an Al based tool to detect the defect in children by using crying pattern
d) None of the above is correct.

Q43.Consider the following terms:

1. Bima Sugam
2. Bima Prarambh
3. Bima Vistar
4. Bima Vaahaks

Which of the above terms are three key components of ‘Bima Trinity’ under Insurance Regulatory
Development Authority of India (IRDAI) vision of ‘Insurance for all by 2047°? Select the appropriate
answer from the options given below.
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b) 2,3 3R 4
) 1,3 3R 4
d) 1,2 3R 4

Q44. SIS (fay SHTUR T6) & dgd Jieds! & Hay H FEfeied IR faar ol |

1. 3FTS] BT YATH JHIT e
2. fororeft wR afeyt
3. 99T IR afeqst
4. RHR] Dic 970 Ud Tee
SRITd H T DI I TR diay gieds! 82 i feu 7t fasey & T Ifd IR &1 987 B
a)1,2 33
b) 2, 3 3R 4
) 1,3 3R 4
d) 1,2 3R 4

Q45. TAaH T e & dey T Fafeied syl R GaR &

1. 'A2'3fI% IS AN B! HaR HRdT & Sl WG arelt YA 3R rard goivid Jufrdl R IS
T fART 3R =Tl &1 &= H a0l g |

2.'A2 +FL' H A2 3R 3fdafie UiRaTR® &1 &1 SHd Jed 2 |

3.'C2' T gRT il R ¢ 3R axg & 9 T WY AR R G Bt 75 G YT anTd &1 dar
BT § | IR, DI, fHT8 W feran mar sm, ug R < 18 i, Se, Riwg, enfe

4. 3T 2015 B RO H, FCl & Tio WR il HHR AT = gar foar i farami &t Msp
&1 A1 6% UK 81 38T Tl

SRIad # T fra= Hy= It 8/87 T feu v ey # I Ifd IR &1 T B

a) $ad Udh
b) bad af
C)W?ﬂ:{
d) g+ IR

Q46. A9 TS HIFG TSI (WMA) & Jey H Ffafad Ul R faaR &%

1. WMA YR R5id S gRT % &1 ad Uil 3R Yrramt & fpddt +ff fagmifa & par v & forg
& T syt ¥ AR B

2.3 90 faA & 3ieR drert gn.

3. af WMA 90 f&1 9 31fies 81 1T §, df 39 SfiaReTie HHT SITe |

4. ARSTIE TR TSI & ¥4I XC F 6 BIC! Sl 8.

SWRIFd H I fhd Sy Tat 8/8? A feu v ey & 9 Ifd SR &1 9979 B
a) Had U




a) 1,2and3
b) 2,3and4
c) 1,3and4
d 1,2and4

Q44. Consider the following regarding subsidies under WTO (World Trade Organisation).

1. Minimum support price of cereals

2. Subsidy on Electricity

3. Subsidy on seeds

4. Government Pest control and management

Which of the given above is an amber box subsidy? Select the appropriate answer from the option given
below.

a) 1,2and3
b) 2,3and 4
c) 1,3and4
d 1, 2and4

Q45. Consider the following statements regarding Minimum Support Price.

1. ‘A2’ covers more comprehensive cost that factors in rentals and interest forgone on
owned land and fixed capital assets.

2. ‘A2+FL’ includes A2 plus an imputed value of unpaid family labour.

3. ‘C2’ Covers all paid-out costs directly incurred by the farmer in cash and kind on seeds,
fertilisers, pesticides, hired labour, leased-in land, fuel, irrigation, etc.

4. In its 2015 report, the Shanta Kumar Committee on restructuring of FCI disclosed that
farmers were receiving a mere 6% of the MSP.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone
b) Only two
c) Only three
d) All four

Q46. Consider the following statements regarding ‘Ways and Means Advances’ (WMA):

1. WMA s are temporary advances given by the Reserve Bank of India to the Centre only to cover any
mismatch in receipts and payments.

2. Amount has to be returned within 90 days.

3. If the WMA exceeds 90 days, it would be considered as an overdraft.

4. The interest rate on overdraft is 6 percentage points more than the repo rate.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone
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b) Only two
c) Only three
d) All four

QA47. Consider the following statements regarding Veblen and Giffen Goods.

1. Both Veblen and Giffen goods are exceptions to the law of demand

2. With the rise in price of Giffen goods, its quantity demanded increases.

3. Sir Robert Giffen propounded the doctrine of Conspicuous consumption which
states that consumers measure the utility of commaodity entirely by its price.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one

b) Only two

c) All three statements
d) None

Q48. Consider the following statements in relations to Variable Rate Repo (VRR) and Variable Reverse
Rate Repo (VRRR).

1. The RBI uses VRRR as a mechanism for injecting liquidity

2. The RBI uses VRR as liquidity Absorption tools.

3. When weighted average call money rate trends above repo rate in the interbank Money
Market, it gives signal to the RBI of System liquidity deficit.

How many of the above statements is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone
b) Only two
c) Only three
d) None

Q49. Consider the following statements regarding ‘Imported Inflation’.

1. The Asian Development Bank recently warned that India could face imported Inflation.

2. Imported Inflation refers to the increase in prices of goods and services by an increase in the price
or cost of imports in country.

3. A significant factor contributing to imported inflation is the depreciation of a country’s currency.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one
b) Only two
c) All three
d) None
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Q50. Consider the following statements regarding Basel 111 norms:

1. Banks must maintain minimum capital adequacy ratios per Basel 111 standards to cover future
financial losses.

2. Banks are required by the standards to retain a larger percentage of their capital in easily
convertible, highly liquid assets.
3. Guidelines focus more on four banking parameters, viz. capital, leverage, funding, and liquidity.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one
b) Only two
c) All three
d) None

Q51. Consider the following pairs.

(Curve) (Relationship)

1. | Engel curve | Income-consumption

2. | Rahn Curve | Environment- per capita Income
3. | Laffer Curve | Tax Revenue — Tax Rate

Which of the above pairs are correctly matched? Select the appropriate answer from the option given
below.

a) land?2
b) 2and 3
c) land3
d 1,2and3

Q52. Which of the following option explains ‘Limit Price’?

a) Minimum price which the firms charge to cover just cost
b) Price which prevents entry of new firms

¢) Maximum Price which the firm is allowed to charge

d) Price at which firms earn a normal profit.

Q53.Which of the following land is mentioned in Chola inscriptions for the maintenance of a school?

a) Agrahara
b) Brahmadeya
¢) Shalabhoga
d) Devadana

Q54. Consider the following statements with reference to Hathigumpha Inscription:

1. It is a seventeen-line inscription in Pali language written in Brahmi script.
2. The inscription mentions a list of infrastructure and public works projects funded by the state.
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3. It was inscribed by the Jain king Kharavela of the Kalinga kingdom during the 2nd and 1st
centuries BCE.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone
b) Only two
c) All three
d) None

Q55.Consider the following events:

1. Introduction of Doctrine of lapse

2. Second Anglo-Sikh War

3. Revolt of 1857

4. Establishment of three Universities at Calcutta, Madras and Bombay

How many of the above event occurred during the tenure of Governor General Lord Canning of India?
Select the correct answer from the option given below.

a) Onlyone
b) Only two
c) Only three
d) All four

Q56.Consider the following statements

1. In British India, three system of land revenue named Zamindari, Ryotwari and Mahalwari were
implemented in the country.

2. Zamindari System was introduced by Lord Cornwallis in Bengal and Bihar in 1793

3. In Ryotwari system, revenue was collected from ‘Ryots’ through middlemen

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone
b) Only two
c) Allthree
d) None

Q57. In which of the following Satyagraha campaigns did Gandhiji not participate directly?

a) Rajkot Satyagraha

b) Non-Cooperation Movement
¢) Kheda Satyagraha

d) Vaikom Satyagraha



Q58. PN 4 Hiex & Jay # Fgfafad &yl R fdaR & |

1. 391 fAmTor gdf 1T ASTa=T & o RIAETET YUH & ARSI & QR [T T |

2. T WISIATe IgM! 1 ITURT B F1T 7T AT 3R 1984 H T Tvp! gRI Ay eRIgR =
I fopam T |

3. 98 Sl gadT & gafid g

SWRIad & I fobdd U= 8T /872 712 feu T8 fadpey & ¥ IRId IR BT 90979 B |

a) 132
b) 2 3 3
) 198k 3
d) 1,2 3R 3

Q59. AT HISH-IIEHd! § YIS IdTG® | B URdiid g3M? =id fGT T fawey & 9 98t S<R I |

a) ~TAGTSTOT T
b) FEUTSTOT T
¢) TTETTSIOT T
d) GRTOTHIOT T

Q60. TS R &t R 7 T | 3R Tt 11 F e &

T | T Il
A | TS | | IAR U
B | IR TEEE]
C | Sraltem - | TR
MEIEER IV | TSR

i feu U faseu A O IR IR &1 I99 B |
a.  A-ll, B, C-1V, D-II
b. A-l, B-lI, C-1V, D-llI
c. A-IV, B-Il, C-I, D-lII
d. A-lll, B-lI, C-1, D-IV

Q61. fRafaRad syl iR faaR &,

1. Ui Ged JABID (WPI) B T, IUHIET Hed DD (CPI) T HISH HT UR HF I g
2. CPI a1 H1Ad! § §gaTd B ¢ Bl §; WPI Tl |
3. YR ReTd o 31d WPI &Y 3197 TTfiies Germifd Yobde & U o SUANT Rl 8|

SWRIFd H I fhd Sy Tat 8/8? Hd feu v ey & 9 Ifd SR &1 9979 B
a) had UH

b) $ad Gl

c)?‘ﬂ*ﬁ

d) ®1s Tel




Q58. Consider the following statements regarding the Konark Sun Temple.

1. It was constructed during the reign of King Narasimhadeva | of the Eastern Ganga Dynasty.
2. It was built using Khondalite rocks and was declared a UNESCO World Heritage Site in 1984.
3. Itis dedicated to the Fire God.

How many of the above statements is/are correct? Select the appropriate answer from the option given
below.

a) land?2
b) 2and 3
c) land3
d) 1,2and3

Q59. When did humans make the shift from being food-gatherers to producers of food? Select the correct
answer from the option given below.

a) Neolithic Age
b) Mesolithic Age

c) Chalcolithic Age
d) Palaeolithic Age

Q60. Match the location of Harrapan sites with List | and List I1.

List | List 11
A | Ropar I Uttar Pradesh
B | Alamgirpur Il | Punjab
C | Kalibangan Il | Gujarat
D | Dholavira IV | Rajasthan

Select the appropriate answer from the option given below.

a) A-ll, B-1, C-1V, D-llI
b) A-l, B-1l, C-1V, D-llI
c) A-1V,B-Il, C-1, D-llI
d) A-lI, B-II, C-I, D-IV

Q61. Consider the following statements.

1. In comparison to the Wholesale Price Index (WPI), food has a higher weightage in the Consumer
Price Index (CPI).

2. CPI tracks changes in service prices; the WPI does not.

3. The Reserve Bank of India now uses the WPI as its primary inflation indicator.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Onlyone

b) Only two

c) Allthree

d) None
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Q62. With reference to the Nyaya School of Philosophy, consider the following statements.

1. It believes that salvation can be attained through logical argument.
2. It recognized perception and inference as the sole reliable sources of knowledge.

Which of the above statement(s) is/are correct? Select the appropriate answer from the option given below.
a) 1 only
b) 2 only
c) Both 1 and 2
d) Neither 1 nor 2

Q63. Consider the following pairs.

Buddhist Council Features
1. First Council (Rajgriha) Division into Sthaviravadins and Mahasanghikas
2. Second Council (Vaishali) | Tripithakas were complied
3. Third Council (Patliputra) | Buddhist missionaries were sent to other countries
4. Fourth Council (Kashmir) | Divided into Hinayana and Mahayana

How many of the above pairs is/are correct? Select the appropriate answer from the option given below.

a) Only one
b) Only two
c¢) Only three
d) All four

Q64. Consider the following statements regarding Quit India Movement.

1. ‘Quit India’ term was coined by Hasrat Mohani.

2. The movement's immediate cause was Cripps Mission's failure.

3. Other causes were also Indian Involvement in World War Il without prior consultation

4. The Communist Party of India and the Hindu Mahasabha did not support the movement.

How many of the above statements is/are correct? Select the appropriate answer from the option given
below.

a) Only one
b) Only two
¢) Only three
d) All

Q65. With reference to the terms of the Purandar Treaty, Consider the following statements.

1. Shivaji was granted the right to hold twelve forts in the name of the Marathas.

2. Shivaji was bound by the agreement that the Marathas would support the Mughals at all times.

3. Shivaji was forced to give up the majority of the forts he had taken, which included Ankola, Songadh,
and Mangad.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.
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a) Only one
b) Only two
c) All three
d) None

Q66. Consider the following pairs with respect to council of ministers in Bahamani dynasty.

Name Ministry/work
1. | Wazir-i-Ashraf | Ministry of Foreign Affairs
2. | Sadr-i-Jahan Ministry of Agriculture
3. | Wazir-i-kull Supervised the work of all ministry
4. | Kotwal Chief of Police

How many of the above pairs is/are correct? Select the appropriate answer from the option given below.

a) Only one
b) Only two
c) Only three
d) All four

Q67. Consider the following statements:

1. Tribe is best known for the famed Hornbill Festival.
2. They speak different dialects like Gnamei, Ngami, Tsoghami.
3. Tribal men of these communities usually dress in white Mhoushu and black Lohe.

All the above statements are related to:

a) Chakmas Tribe
b) Toto Tribe

c¢) Bodo Tribe

d) Angami tribe

Q68. With reference to the North Atlantic Treaty Organization (NATO), consider the following statements.

1. Poland, Canada and Denmark are among the founding members of NATO.
2. The North Atlantic Council is the principal political decision-making body.
3. Sweden became the 32" member of the organisation in 2024.

How many of the above statement(s) is/are correct? Select the appropriate answer from the option given
below.

a) Only one
b) Only two
c) All three
d) None
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Q69. Consider the following statements with respect to Association of Southeast Asian Nations (ASEAN):

1. It was established in 1967 with the signing of the Bangkok Declaration.
2. Delhi declaration adopted for the establishment of ASEAN Community.
3. India became an ASEAN Dialogue Partner in 1996.

Which of the statements given above is/are correct? Select the appropriate answer from the option given
below.

(@) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d1,2and 3

Q70. Consider the following statements with reference to Rythu Bandhu Scheme.

1. It is proposed by the Government of Kerala for providing Investment Support to Agriculture and
Horticulture crops.

2. As per the scheme, each farmer gets X10,000 per acre each season for purchase of seeds and other
requirements.

Which of the statements given above is/are correct? Select the appropriate answer from the option given
below.

a) Only1

b) Only 2

c) Bothland2
d) None

Q71. Consider the following statements with reference to the Startup20 engagement group:

1. A new engagement group called Startup20 was established under India's G20 chairmanship.
2. The engagement group comprises of four task forces, namely human, social, economic and
Environmental.

Which of the statement(s) given above is/are correct? Select the appropriate answer from the option
given below.

a) Only1

b) Only 2

c) Bothland2
d) None

Q72. Consider the following statements regarding ‘Afanasy Nikitin Seamount’:

1. India has requested permission from the International Seabed Authority (ISBA) to explore the Afanasy
Nikitin Seamount.

2. About 3,000 kilometres off the coast of India sits the Afanasy Nikitin Seamount, which is rich in calcium.

3. Overlapping claims by Myanmar present difficulties for the application.

How many of the statement(s) given above is/are correct? Select the appropriate answer from the option
given below.
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a) Only one
b) Only two
c) All three
d) None

Q73. With reference to the State Food Safety Index (SFSI) 2023, consider the following statements.

1. General Decline in State Food Safety Scores as compared to 2019
2. Uttar Pradesh has topped the Index, followed by Kerala.
3. Among Union territories, Jammu and Kashmir secured the first rank.

How many statements given above is/are correct? Select the appropriate answer from the option given
below.

a) Only one
b) Only two
c) All three
d) None

Q74. Consider the following statements with reference to Raisina Dialogue.

1. It is India’s flagship conference on geopolitics which is hosted by Observer Research Foundation in
partnership with the Ministry of External Affairs, Government of India.
2. The theme of the 2024 edition is “Sustainable development and Inclusive Multilateralism”.

Which of the above given statements is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2

Q75. Consider the following statement regarding ‘Greening and Restoration of Wasteland with
Agroforestry’ (GROW)' report 2024:

1. The goal of the GROW report is to support restoration initiatives so that, by 2030, 26 million
hectares of degraded land will be restored, fulfilling the nation's objective of land degradation
neutrality.

2. It also aims to create an extra 6 billion tonnes of carbon sink.

3. Through the GROW portal, the established system offers data on regions in India that are
appropriate for agroforestry.

How many of the statement(s) given above is/are correct? Select the appropriate answer from the option
given below.

a) Only one
b) Only two
c) All three
d) None
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Q76. Which of the following countries shares border with Afghanistan?

1. China

2. Uzbekistan
3. Turkmenistan
4, Pakistan

5. Azerbaijan

Select the correct answer from the option given below.

a) 1, 2 and 5 only
b) 1, 3 and 4 only
c) 2, 3and 4 only
d) 1,2,3and 4 only

Q77. Which of the following countries are part of the Weimar Triangle?

a) Poland, Italy and Austria

b) France, Germany, and Italy
c¢) France, Germany, and Poland
d) Germany, Italy and Austria

Q78. With reference to NIPUN Bharat Programme, consider the following statements.

1. The Ministry of Education is the one that initiated the programme.

2. The program's objective is for all children nationwide to acquire fundamental literacy and
numeracy skills by the end of Grade 1 by 2026-2027.

3. It will address the learning requirements of kids between the ages of 3 to 9 years.

4. Its implementation comes under the aegis of the centrally sponsored scheme of Samagra Shiksha

How many of the statement(s) given above is/are correct? Select the appropriate answer from the option
given below.

a) Only one
b) Only two
c) Only three
d) All four

Q79. Consider the following statements with reference to ‘SHRESHTA Scheme’.

1. It was launched for providing seats for the meritorious Economically Weaker Section students in the
private residential schools.
2. The progress of the students will be monitored by the Ministry of Education.

Which of the statements given above is/are correct? Select the appropriate answer from the option given
below.

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2
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Q80. Operation ‘Nanhe Farishtey’ is launched by

a) Delhi Police

b) Railway Protection Force

c¢) Central Reserve Police Force
d) Border Security Force

Q81. From January 1, 2021, the price of petrol (in Rupees per litre) on mth day of the year is 80 + 0.1 m,
wherem =1, 2, 3, ..., 100 and thereafter remains constant. On the other hand, the price of diesel (in Rupees
per litre) on the nth day of 2021 is 69 + 0.15 n for any n. On which date in the year 2021 are the prices of
these two fuels equal?

a) 21st May
b) 20th May
c¢) 19th May
d) 18th May

Q82. A watch which gains uniformly is 5 min slow at 7 o clock in the morning on Sunday and it is 5 min
48s fast at 7 pm on following Sunday. Which day was it correct?

a) Tuesday
b) Wednesday
c) Thursday
d) Friday

Q83. Upendra invested Rs.76000 in a business. After few months, Tripathi joined him with Rs.38000. At
the end of the year the total profit was divided between them in the ratio 3 : 1. After how many months did
Tripathi join the business?

a) 8 month
b) 6 month
c) 4 month
d) 2 month

Q84. Two bikes start towards each other, from two places A and B which are at a distance of 160km. The
start at the same time 9:10 AM. If the speeds of the bikes are 50 km/h and 30 km/h respectively, at what
time will they meet each other?

a) 11:10 AM
b) 12:20 PM
c) 01:30 PM
d) 02:10 PM

Q85. The following bar chart gives the cumulative percentage of five different types of scooters produced
by Star Company during the two given years. Total scooters produced in 2006 is 4,50,000 and total scooters
produced in 2007 is 5,20,000.
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& 2006 3R 2007 F SR I STZY E WHex! A I 85% WR HUAT gRT o 1@ & 3R 2006 3R
2007 H ITGd TIRY € W | F 75% WR HUT GRT 9D AR 8 | < 12U E WHex &1 faeh! =y C
X Ft faept I fovan ufa=ra siftres a1 &1 52

a) 6.5%
b) 4.7%
c) 5.6%
d) 8.8%

Q86. HRd H T Uaie &1 Il agamardt € iR 379 Fued & fou sg-smmft =Pwior ot
TRl & | TG H T T 3aY AR BT HeT § forad dT SHTelifdet Bt aarr § vard
FA § Sl AP JR&T & oI TR Ul Rl § 3R TSI <=0 & aiid o1d Uel Rl ¢ 1 Th 3
A T IR 3Mddharg g, [ fre fafi JRem iRl & st oy Ia=ag &t sawadhd ¢
Hraradf &=t & faena ok fafay yur &t AR # ASifeRy &1 IuahT U dahTd STaRgddl §
o ®is ot 331 ToRSfE™ T8 HR THdT &; TR 3R T=d & T § YR & I difhds
IR & | $Hh 3feTal, WA UR STUR, dRep<] 3R TRielt garsf 3R sRaR] i dwepdl J Heifdrd
e, Wt 8, oo forg SiaRiva wednT &t Siiaxadhdt 81 HRd § W1 et &1 gHifaal SrHracd el
¥ faftr Sty @ik HIoTE ggE &) SufRUfY S R R ff wfed 81 718 B, St -t aicepfas
3R TSI TH1d BT HRUT & g |

IRITd R & JeH 7 FufaRad 7 J &1 91 a8 dobavrd 3R ragie Ffedn g Iear g2

1. Tp) Bt AT H UG B 9T AfGddl bl geb WRie SR} fbar S Tl
2. ST G TSRl & SISl UR GahgHl I o1 Rfad gf ST a1l

3. TS® 3R geis S WiATae! §f-ardt i o fawr fasar S anfgu

4. Hg TWHR B AT TR ST 3R HIWTS HeUTTAD] ! MBS s A8y
5. Hio AP B FIRMA & [ AFeRfed §dTs ale-! &l START fodm ST A1fgu|

i faU 7T fadhed &1 SN HReh gl SR A |

a) $Had 1, 3 3R 4
b) Pad 2, 3 3R 5
<) Had 1,3 3R 5
d)Pdd 1,3,4 3R 5
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If 85% of the type E scooters produced during 2006 and 2007 are being sold by the Star company and
75% of type C scooters produced in 2006 and 2007 are being sold by the Star company. Then by how
much percentage the sale of type E scooters is more or less than sale of type C scooters?

a) 6.5%
b) 4.7%
) 5.6%
d) 8.8%

Q86. The challenges of border management in India are multifaceted and require a multi-pronged approach
to address them. One of the challenges is the issue of illegal immigration wherein people migrate in search
of livelihood which poses a threat to national security and creates tensions between neighbouring countries.
Another challenge is cross-border terrorism, which requires close coordination between various security
agencies. Utilizing robotics in monitoring the vast and diverse terrain of the border areas is an urgent
necessity no nation can afford to overlook; India has logistical challenges in terms of surveillance and
patrolling. In addition, there are issues related to cross-border trade, smuggling, and trafficking of drugs
and arms, which require international cooperation. The challenges of border management in India are
further complicated by the presence of various ethnic and linguistic groups in the border regions, which
sometimes leads to cultural and social tensions.

With reference to the above passage, which of the following could be the most rational and practical
implications?

1. Work permits should be issued to persons migrating in search of a job.

2. National intelligence agencies should be given power to prosecute the guilty.

3. Border infrastructure such as roads and helipads should be developed.

4. The Union government should create a profiling of the ethnic and linguistic minorities along the
border.

5. Unmanned aerial vehicles should be used for surveillance in difficult topography.

Select the correct answer using the option given below.

a) 1,3 and 4 only
b) 2,3 and 5 only
¢) 1,3and 5 only
d) 1, 3,4 and 5 only



Q87. IU= B U HUS BI gob W Bid AU & forg 39 T, 52 J, 65 I 3R 78 it A aredt
gﬁ@%ﬁ?ﬁﬁlﬁ%l HId B! FAqH daTs fha-l & o U5 TP B! 9 Jld U I [T el
?

a) 9.8 Ht
b) 10.20 Ht
c) 6.4 |l
d) 7.8Ht

Q88. 3T 3R 3BT I 15 BE H I § Forgi ulai <1 U &1 IR 75 1 STHTY P 3fATal 3=
14 BT BT 3Gd TR 60 g1 Y 15 BHT BT 3N WHR 3T & 3ATdT 3= 14 DT & 3NAd
THR T TH AP §1 3BT BT TR AT 82

a) 80
b) 85
c) 70
d) 75

Q89. A T HTH BT 10 fe=i H B JobdT §, SI&fd B 3fbhdl 39 15 fei # +R pdi g1 3 5 fei b T
1Y HTH T &, 3R A9 B € gR1 2 &1 & g1 fopan wran g1 afe 3% v0d e § v &
T 450 A1 I U BT R H BT IMRT?

a) ®.225,%. 150, %. 75

b) ¥. 250, ®. 100, ®. 100
) ®. 200, %. 150, %. 100
d) ®.175,%. 175,%. 100

Q90. UY &, & TG, | 3R 11 & 71 &1 3MUD! T | 3R TF1 1| & o9 Ja! daey RAUd o 3R Ia!
fdered g & o SFT AmTstl &1 g =1 g

HHT-1: U I 1 360 T ‘P 3T AN Jed ¥ 36% AfH 3ifdrd § 3R 140 U H1 Fe & &1 ol
7| 3R I ag BT faehy Yo 'Q’ IS AT Yoo o 28% e 3ifdhd § 3R 120 U &1 g
& §1¢ 991 T[T TG P: Q =19:18 §, T a%] HT Hd T 1d PIfoTg |

HHET-11: 2 T & AT 10500 T T T HA R U Ihgia o 'y%' Ui I8 &1 R, I ©0 4
T YR 2,205 TUT B 1 4,800 TUY & fAR W (y+5)% Tl a8 P &3 I UK Tehgfe TSl A1
HIfOTY, Sl 2 AN b e U I A I 6|

fafafed & & & A1 fadwed a6 | 3R 76T 11 & o9 SeY BT AR S

a) AET-1 > AET-I|

b) AET-1 <HEAT-II

c) HHAT-1 < HHEAT-1I

d) 9111 = HE-I

Q91.g;fzoo%§$&ﬁ%mvﬁa’r\fﬁﬁ=rﬁmu@? | 3R 1| AP ol HU W IR &3, o 9
MR

HY |: 39 HeIH &1 Ugdl (AR 5 IRIG &l UST|

DY |I: 3 TG BT RIS f& Yepar 1|




Q87. Upendra is given four sticks measuring 39 cm, 52 cm, 65 cm, and 78 cm to measure laces at a fabric
shop. What is the minimum length of the lace that Upendra can measure exactly with each stick?

a) 9.8m
b) 10.20 m
c) 6.4m
d) 7.8m

Q88. Amit and Aakash are among 15 students who wrote an examination. Amit scores 75. The average
score of the 14 students other than Aakash is 60. The average score of all 15 students is one more than the
average score of the 14 students other than Amit. What is Aakash's score?

a) 80

b) 85

c) 70

d) 75

Q89. A can do a piece of work in 10 days, while B alone can do it in 15 days. They work together for 5
days, and the rest of the work is done by C in 2 days. How should they divide the money if they get Rs. 450
for the whole work?

a) Rs. 225, Rs. 150, Rs. 75

b) Rs. 250, Rs. 100, Rs. 100
c) Rs. 200, Rs. 150, Rs. 100
d) Rs. 175, Rs. 175, Rs. 100

Q90. In the question, two Quantities, I and Il, are given. You have to solve both quantities to establish the
correct relation between Quantity | and Quantity 1l and choose the correct options.

Quantity-1: The selling price of an article marked 36% above its cost price and sold after a discount of Rs.
140 is Rs. 'P', and the selling price of the same article marked 28% above its cost price and sold after a
discount of Rs. 120 is Rs. 'Q". If P:Q = 19:18, find the article's cost price.

Quantity-11: The compound interest received on investing Rs. 10500 for 2 years at 'y%' p.a., compounded
annually is Rs. 2,205. Find the compound interest received on investing Rs. 4,800 at a rate of (y+5) %p.a.,
compounded annually for 2 years.

Which of the following option will define the relation between Quantity | and Quantity 11?
a) Quantity-1 > Quantity-11
b) Quantity-1 < Quantity-I1
c) Quantity-I < Quantity-II
d) Quantity-I > Quantity-II

Q91. Which date fell on the last Sunday of March 2006? Consider two statements numbered I and 1, which
are given below.

Statements I: The first Sunday of that month fell on the 5th.
Statements Il: The last day of that month was Friday.
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You must decide whether the data provided in the statements are sufficient to answer the question. Select
the appropriate answer from the options given below.

a) | alone is sufficient, while Il alone is not sufficient
b) Il alone is sufficient, while | alone is not sufficient
c) Either I or Il is sufficient

d) Both I and Il are sufficient

Q92. Read the following information carefully and answer the given question.

Eight people are sitting in two parallel rows, four in each row. P, Q, R, and S are sitting in row 1, facing
south. A, B, C, and D are sitting in row 2, facing north. All the persons are equidistant and facing each other
in the opposite row.

Statement I: A is sitting second from one end of the row. Q is not sitting adjacent to R. B is not sitting
adjacent to A. The person facing A sits immediately right of P. One person sits between P and
R.

Statement Il: Q is sitting at one of the extreme ends. S is sitting second to the right of the one facing B. S
is not sitting at any extreme end.

Statement I11: C and D are not sitting adjacent to each other. S and P are sitting adjacent to each other. P is
not facing A. A is sitting second from one of the ends. One person sits between the one who
is facing C and R. C is not sitting to the left of D.

Who is sitting immediately left of the person who is facing Q? Select the appropriate answer from the
options given below.

a) The data in Statement I11 is alone is sufficient to answer the question

b) The data in both Statements | and Il together are sufficient to answer the question
c) The data in both Statements Il and Il together are sufficient to answer the question.
d) The data in both Statements I and 11 together are sufficient to answer the question

Q93. A dog weighing 5kg is standing on a flat boat so that it is 10 metres from the shore. It walks 4m on
the boat towards the shore and then halts. The boat weighs 20kg, and one can assume that there is no friction
between it and water. The dog from the shore at the end of this time is:

a) 34m
b) 6.8m
c) 126m
d) 10m

Q94. 1t takes six hours for three pipes, P1, P2, and P3, to fill a tank. When the three worked together for
two hours, P3 was closed, and P1 and P2 filled the remaining tank in seven hours. How many hours would
it take for P3 alone to fill the tank?

a) 15 hours
b) 21 hours
¢) 12 hours
d) 14 hours
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D | Af%d Surd IV | T &1 surd & fafd Tursl

I fou 7t fawey A @ IRId IR &1 79T B

a) A-lll, B-1V, C-I, D-1I
b) A-IV, B-llI, C-II, D-I
c) A-ll, B-1V, C-1, D-llI
d) A-IVv, B-llI, C-I, D-1I

Q96. I 3afY & GRI Th BRI 13T & 810 UM 3R gER BT 900 UMD §MT 2| Ugd TR T
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ERIRIRICARIEK

a) 54 3R 75

b) 24 31 48

¢) 44 3R 68
d) 11 3R 25

Q97. i &t 71 AIfIehT IR SHTT-S1erT &t (IR, GaT, gd SR Uit & Uia Sfel-SieiT IdMa! &1 U
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a) ATShIad

b) aIRAT A=A

¢) TR HEex

d) IR

Q98. Tfg 5 fir T aTd T SR UIsy A 10 Hiex Ufd fiFe &) X A Ul 981 8, ol T UHIPR g
g% 3MYR TR I 30 AT 3R RIS 24 JHT 8, BT WA H fobd=1 g7 @



Q95. Match the List 1 with List Il

List | List Il
A | Similar Surds | | A surd which consists of a single term
B | Compound Surd | Il | a+V b anda-V b where ais rational number and v b is surd
C | monomial surd Il | sum or difference of two or more surds
D | Mixed Surd IV | different multiples of the same surd

Select the appropriate answer from the option given below.

a) A-lI, B-1v, C-I, D-1I
b) A-1V, B-lll, C-1l, D-I
c) A-ll, B-1V, C-I, D-llI
d) A-1V, B-lll, C-I, D-lI

Q96. One fashion house had to make 810 dresses and another 900 dresses during the same period. The first
house's order was ready 3 days ahead of time, and the second house's order was ready 6 days ahead of time.
If the second house made 21 dresses more a day than the first, how many dresses did each fashion house
make a day?

a) 54and 75
b) 24 and 48
c) 44 and 68
d) 11 and 25

Q97. The table below represents a company's sales (in units) of five different products in four different
regions (North, South, East, and West).

Product North | South | East | West
Refrigerator 600 1000 800 400
Washing machine 800 600 1000 | 900
Personal Computer 900 500 700 800
Air Conditioner 300 700 1100 | 1200
Microwave 400 200 500 600

Based on the data given above, which product had the lowest average sales across all four regions?
a) Microwave

b) Washing machine

c) Personal Computer

d) Refrigerator

Q98. If water flows at the rate of 10 meters per minute from a cylindrical pipe 5 mm in diameter, how
long will it take to fill a conical vessel whose diameter at the base is 30 cm and depth 24 cm?



a) 51 fiFe 12 %8
b) 51 fiFc 24 Tds
c) 28 fic 36 Y& s
d) 28 fiic 48 T8

Q99. 283+293+303+............... +483aﬂdﬂﬁlaﬂT%?

a) 1241292
b) 1360092
c) 1240092
d) 1242292

Q100. T E1 3R E2, P(E1) = ¥, 3R P(E1 U E2) = 2/3 & 1Y Uh Uefwsh YN 1 &l Wdd gl g |
iR, fFafaRag Hul iR faaR &

1. P(E2), 1/3 & SRR §
2.P(E11E2), 1/2 % SRR g
Iudad BuT § A B a1/ 9el 8/

a) Had 1

b) Had 2

¢) 1 3R 2 I

d) IWed & J Ps Tal




a) 51 minutes 12 seconds
b) 51 minutes 24 seconds
€) 28 minutes 36 seconds
d) 28 minutes 48 seconds

Q99. What is the value 0of 283 +293 +303 ............... + 4837

a) 1241292
b) 1360092
c) 1240092
d) 1242292

Q100. If E1 and E2 are two independent events of a random experiment with P(E1) =% and P(E1 U
E2) = 2/3. Then, Consider the following statements:

1. P(E2) is equal to 1/3
2.P(E11E2)isequal to 1/2.

Which of the above statement(s) is /are correct?

a) Only1l

b) Only 2

c) Bothland2

d) None of the above
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